D ACOUSTICS

Arya Kit

User Manual



Technical specification :

Frequency range
Sensitivity (2.83V/ 1m)
Nominal impedance
Max SPL

Recommended amplifier
Cross-over frequency
Speaker type

Enclosure type

Port tuning frequency

Drive Units:
- High frequency driver
- Low frequency drivers

Cabinet:
18 mm MDF
Dimensions (H x W x D)

Net weight (pair):
- Cabinet only
- Full assembly

Special Features:
- High quality drivers

Manual | Arya Kit

: 44-28000 Hz +/-3 dB
: 87.5dB

;40

: 107 dB

. 50-200W

: 3000 Hz

: 2'4»-way Floor Stand
. Bass reflex

. 41 Hz

: SB29RDAC-C000-4
: 2x6" SB17MFC35-8

: 18.73 kg/41.29 Ib
© 22.54 kg /49.69 Ib

- Diffraction optimized cabinet proportions
- Internal bracing to reduce and distribute cabinet vibrations
- Dual vents and slanted internal bottom plate for reduction of standing

wave resonances

N

21076 x 195x310 mm /42.36 x 7.68 x 12.2 inch



Manual |Arya Kit

SIXe-§0 ,0¢ : ( pay ) ——

sIXe-4o G| : (usal )

sixe uo : (en|g) -
1 9AIND asuodsay

ZHA0C 101

00

€t

L9

3

S

14

Al 005 00Z

00l

0S

0¢

0t

\.\.\

L
—_——

Ve

&

D
{

"

e

S

Lo

114

14

| s

09

99

| SL

08

68

06

56

00l

@ QO

asuodsas Aousnbauy




Mechanical drawing (size in mm)

1076

1046

155

e
[olcEn

[ era

150

200

L3
e
g

|| oo

190

180

o
ik 59

AT | o14e

551

220

Manual | Arya Kit

lele;




Manual | Arya Kit

BT

10-B0L Maxés

31

83

E 3

82

E 2

3

o>

63

D
&\\N
P
b
—

N

//////////////////%///////////// /////////////////////////////// //////n////llﬂ///////// /////////////////// NN

//%_%_7//

%

////////////////_Z

RO
>

9//////////////////&7///////////////

%!
2y
A




Manual | Arya Kit

M3IA DIML3NOSI

M3IA 3A0TdX3 - LIM VAYY

I (uieped yno eeg) jeusiepy Buidweq 8l
1 9|jug) Jayeads 1
8jeld aueN al
(18u1geD uo pajiejsu)) WG] WGP agn) saded | G|
(1auIqes uo pajjejsul) Wwpg:p aJel) Jod vl
(leysapad Jo4) joyse) [eag el
(areid [euluwia) J04) jayses) leas zZh
(payl) (+) 1504 Buipuig n
(woeig) (-) 1sod Buipuig ol
|BUBd [eulLLI | [88]S SSa|ulels 6
(peifessul) i 1N Hasul 8
(18085010 1Y WOIS) WWIG} Xy MEIOS POOM )
(1ed [eulusa) Jo4) WUIOZXY MIOS yunsiauno) | 9
(lejsapad Jo4) WWIgEXy MIOS 18¥00S XaH g
(J8AUp J04) WWZXE MBIS 184208 XoH ¥
(Ajgiesedas pjog) Janossoi)) Iy Ay ¢
(Ajajesedes pios) 8-GEDNLLES .9 z
(Aieresedss piog) $-0000-0vQX628S I
1811 1yvd ON

€138
¥ Iv13a




w
a
o
1H0d ¥3dvd
| d¥od
1o
LH0d ¥3dvd
H04
1NoX

00.

558

5} Manual | Arya Kit

N

(ww u1 3zIS) uidIed IN) Jeudde buidweq



Manual | Arya Kit

Damping material position (size in mm)

DAMPING MATERIAL A
DACRON TYPE 90z
SIZE:275X160
QTY:2PCS

USED FOR TOP SIDES

DAMPING MATERIAL B

DACRON TYPE 90z

SIZE:700X140
QTY:1PCS

USED FOR BEHIND
THE TWEETER

p DAMPING MATERIAL €
i DACRON TYPE 90z
SIZE:160X160
QTY:2PCS
USED FOR BEHIND
THE WOOFER

_~——DAMPING MATERIAL D
~ DACRON TYPE 9cz
SIZE;160X600
QTY:2PCS
USED FOR BEHIND
THE WOQFER

DAMPING MATERIAL E
DACRON TYPE 9oz
SIZE:190X700
QTY:1PCS

USED FOR
BOTTOM CHAMEBER

——— DAMPING MATERIAL F
DACRON TYPE 9oz
SIZE:290X160
QTY:4PCS
USED FOR
BOTTOM CHAMBER




Manual | Arya Kit

8-5£04NLLES oI/ 2 & F_
_ ww z'Lg [ Hw €'
T ANANAS ]
13JO00OM MO 1
dMN /A 89 F_
20
MOL T €S
8-6£04IN.1LES
r4Y
Ww z'1g | HW 150 wuw g | Hw |
¢ \ANANAS
21
J13j00M pIN ¢
¥-0002-0vay62as ww 2°0g | HW G1°0 dMIN/ 4 g9
10 o -
g MOLTZT I Z
+ MojleA - E = )\/D pog + | !
19)99M] L NI

JljewaydsS I9N0Ss04)




9 Manual | Arya Kit
(®3J

Assembling instruction ©
Part list (each cabinet): N~
- High frequency driver SB29RDAC-C000-4 (sold separately) 1 pc

- Low frequency drivers 6" SB17MFC35-8 (sold separately) 2 pcs
- Arya kit crossover (sold separately) 1 pc

- Hex socket screw M4 x 20mm (for drivers) 12 pcs
- Hex socket screw M4 x 30mm (for pedestal) 10 pcs
- Countersunk screw M4 x 20mm (for terminal plate) 4 pcs
- Wood screw 4 x 16 mm for crossover (from kit crossover) 6 pcs
- Insert nut M4 (Installed on cabinet) 26 pcs
- Stainless Terminal plate 1 pc

- Binding post 1 pair
- Seal gasket (for terminal plate) 1 pc

- Seal gasket (for pedestal, installed on cabinet) 1 pc

- Port flare (installed on cabinet) 2 pcs
- Port paper tube (installed on cabinet) 2 pcs
- Damping 1 pc

- Name plate 1pc

- Speaker grill 1 pc

Tools needed:

- Hex key 3mm size (for driver and pedestal screw)

- Hex key 2.5mm size (for terminal plate screw)

- Philips screwdriver no. 2 (for crossover screw)

- Soldering iron + tin (for soldering input wire to terminal)

- Multipurpose glue (for attaching the damping and sealing the wire hole)



© Manual | Arya Kit 10

1. Take out the cabinet from
the packaging and take out
the raw damping material
from the cabinet

2. Cut the raw damping material
to 12 pcs of damping according
to the cutting pattern diagram

3. Place each damping into the
cabinet according to position
diagram. Put little glue if needed
to hold the damping.




11

4. Detach the pedestal by loosen
the four screws in each corner.

5. Place the crossover on
the pedestal, then put the input
cable towards the rear terminal
side and the speaker wire towards
the front panel.

Manual | Arya Kit

N




Manual |Arya Kit 12

N

6. Pass the three pair of the speaker
wire through each hole in
the bottom panel of the cabinet.

7. Seal all the cable holes with hot
melt glue

8. Pull out the input cable through
the terminal hole then solder it to ——7—_ |
the binding post terminal 4




13 Manual | Arya Kit %O
N

9. Mount the terminal panel into
the terminal holes at the back side

10. Mount the pedestal back to
the cabinet then tighten it by
tightening all 12 screws

11. Pull the three pair of cables
through the holes in each
cabinet bracing




Manual |Arya Kit 14

@@
9]
9

N\

12. Hook up the cable to the woofer
and tweeter terminal

S § )

13. Mount the driver to the cabinet
and screw them




Find Us On

O] f

www.sbacoustics.com



Technical specification :

Frequency range
Sensitivity (2.83V / 1m)
Nominal impedance
Max SPL

Recommended amplifier
Cross-over frequency
Speaker type

Enclosure type

Port tuning frequency

Drive Units:
- High frequency driver
- Low frequency drivers

Cabinet:
18 mm MDF
Dimensions (H x W x D)

Net weight (pair):
- Cabinet only
- Full assembly

Special Features:
- High quality drivers

Manual | Arya Kit

. 44-28000 Hz +/-3 dB
: 87.5dB

. 40

: 107 dB

: 50-200W

: 3000 Hz

. 2'%-way Floor Stand
. Bass reflex

: 41 Hz

: SB29RDAC-C000-4
: 2x6" SB17MFC35-8

11076 x 195 x 310 mm /42.36 x 7.68 x 12.2 inch

: 18.73 kg/41.29 b
: 22.54 kg /49.69 Ib

- Diffraction optimized cabinet proportions
- Internal bracing to reduce and distribute cabinet vibrations
- Dual vents and slanted internal bottom plate for reduction of standing

wave resonances



SIXe-1Jo ,0¢ : ( pay ) —- SIXe-J0 .Gl : ((usdI ) ~-—--

sixe uo : (en|g) ---—-
1 9AIND asuodsay

Nc_.__wz L %8 B4 i 008 002 00t 0 0 U
£t S
19 08
ool 5
£el 09
L9l %
.mo.z - e
£e \ s
L9 , 08
m 00¢ . .%\?\_\)ﬁ L & i v \,.\ 58
: TR T .
m L9 g z , /« s
= 8
ooy 2 0oL
/\ @O \ asuodsal Aouanbaiy




DAMPING MATERIAL A

150

195 DACRON TYPE 90z
SIZE:275X160
= 149 95 QTY:2PCS
o USED FOR TOP SIDES
[ N
N7 H DAMPING MATERIAL B
[ DACRON TYPE 90z
I H.-~ SIZE:700X140
g A QTY:1PCS
8
- 1 S N, B USED FOR BEHIND
R 93 THE TWEETER
5 I I .I y §
} AR (| 274
- e L.
f Iy
e Syt

A 7

DAMPING MATERIAL C
/_ DACRON TYPE 90z
SIZE160X160

—
\

\)

7,

/

=
A%
\© \&

190

QTY:2PCS
USED FOR BEHIND
THE WOOFER

180

531

DAMPING MATERIAL D
/_DACRON TYPE oz
SIZE:160X600

QTY:2PCS

1076
1046

561

USED FOR BEHIND
THE WOOFER

77

NN

 ——— DAMPING MATERIAL E
DACRON TYPE 90z
SIZE:190X700
QTY:1PCS

USED FOR

BOTTOM CHAMBER

|

N

M

)LHIIHIHMmI

_———— DAMPING MATERIAL F
DACRON TYPE 8oz
SIZE:290X160
QTY:4PCS

USED FOR

2 |, 63, 575 63 BOTTOM CHAMBER
s T

[Nfa23][] 63

55

|

3
10-BOL Maxa!
+ .
.
o
§|
&
hd
w
2
8
'S
Gl
3 83 82 83 3




IN 1 Tweeter
R1
1 |+ Red — AN ” [] Yellow +
2
- Black 22Q710W C1 L1 Black -
6.8 uF / MKp 015 mH /0.7 mm SB29RDAC-C000-4
[ Mid woofer
L2 L3 Blue
o VY +
1mH/@1.4 mm 0.47 mH/@1.2 mm
R2 Black -
SB17MFC35-8
33Q/M10wW
—— C2
—— 6.8 yF / MKP
[ o
L4 Low woofer
LYY, Red +
3.3mH/@1.2 mm
Black -
g fg MF / MKP SB17MFC35-8
o
Title
SBA Arya
Size Number Revision
A
Date: 03-May-17 | Sheet of
File: D:\My Documents\..\SBA Arya new.S¢hDd@rawn:By

2 3 ‘ 4




	Page 1

